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General Instructions :

(i) All questions in both the sections are compulsory.

(ii)  Marka for questions ure indicated against each. .

(iit) @ueations No. 1 -5 and 17 - 21 are very short-answer questions carrving 1 mark each.
They are required to be answered in one sentence cach.

{iv)  Questions No. 6— 10 and 22— 26 are short-answer questions carrying 8 marks each.
Answers to them should normally not exceed 60 words each,

fv)  Questions No. 11 - 13 and 27-29 are also short-answer questions carrying 4 marks
each, Answers to them sfiould normally not exceed 70 words each.

fve) Questions No, 14— 16 and 30— 32 are long-answer questions carrying 6 marks each.
Answers to them showld normally not exceed 100 words each.

(vii)  Answers should be brief and to the point and the above word limits should be adhered
to as far as possible.
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SECTION A
WUE H
1. Define ‘production function’, 1
‘T Wed @t givamn gifE |
2. What is ‘market supply" 7 1

e of | F s 27

3. Define 'equilibrium price’. 1
G e T 1

4. Define ‘Marginal Rate of Transformation’. 1
‘SO & HRE e @ R i |

5. What is a demand schedule ? 1
win g #7087

6, Given the market price of a good, how does a consumer decide as to how many units of
that good to buy ? Explain. 3

T A F G T AW B G UH ST AR 4 ol o & fF oaw s
o @ie 7 guEnEe |

7. What is the likely effect of technological progress on the supply of a good ? Expldin, 3
TS WG # US aa @ g 9 gAifEa e F a2 H6eeRT |
8, Explain what happens to the profits in the long run if the firms are free to enter the
industry, 3
OR

Explain what happens to losses in the long run if the firms are free to leave the
mdustry,
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8.

1

11.

12.

68/3 3 PeT.0,

Explain the central problem of distribution of income.
Y e F HEE GHE HHEEC |

Price elasticity of demand of a good is (=)3. If the price rises from Rs. 10 per unil to
Rs. 12 per unit, what is the percentage change in demand ?

UF a6 F AN FEd @ ()3 8 | 3 FWE 105, 9 598 d a5 W 125 6
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Draw supply curves with price elasticity of supply throughout equal to (i) zero, (ii) one,
(iii) infinity and (iv) less than one.
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Distinguish between (i) elastic and inelastic supply and (i) perfectly elastic and
perfectly inelastic supply.

(i) elaer & AiEER g & @9 5 o) Piear deer it g e g & @
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Complete the following table :

Price Output Total Revenue Marginal Revenue
(Rs.) {Units) (Rs.) (Rs.)
T - 7 o
= 2 10 =
— 3 = =)l

1 = - (=15
frefefEn difes g FifEe
(%) (5F%) (7.) (%)
1 = 7 =
— 2 10 -
S 3 - i—i1
1 - = (1o




13. Explain producer’s eguilibrium using a schedule. Use total cost and total revenue
" approach,

OR
Distinguigh between (i) fixed cost and varisble cost giving examples and (i) average
cost und marginal cost giving an example.
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14. Given market equilibrium of a4 good, what are the effects of simultaneous increase in both
demand and supply of that good on 1ts equilibrinm price and guantity ?

OR
ixplain the implications of the following :
(il The featore ‘differentiated products’ under monopolistic competition,
(i1} =~ The leature ‘large number of sellers’ under perfect competition,
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15. Explain the effect of the following on demand for a pgood :
(i) Rise in intome
(i1)  Rise in prices of related goods
f=fafigd & wh o1 F1 50 W 9S4 99 ¥9E SEEEY
Gy mH afE
(i) T SEA F HEG H giE
16. Explain, with the help of numerical examples, the effect on total output of a good when

all the inputs used in production of that good are increased simultaneously and in the
same proportion.
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17.

18,
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20.

21,

22

23.

SECTION B
U F

What is a commercial bank ?

aifvrs W% w1 e § 2

Define government budget,

TEA s & gt S )

What is fixed exchange rate system 7

fras (Fem) fafmy o worelt § 5= sifimm & 2

Define ‘aggregate supply’.

W ufg’ @ afoemr e )

Give meaning of deficient demand.

aparEt i & Y FaET |

Distinguish between balance of trade and balance on current account.

SR Wy S AE @ Ay ¥ A @i |

Explain the ‘medium of exchange' function of money.
OR

Explain the evolution of money,

qe & ‘fafem @ omew’ 59 & smen @i |
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and an example of each:

Give meaning of capital expenditure and revenue expenditure in & government budget

YelF F US IAET a0 B0 oM awe § 6 = iR ueeE =Y % Y annu |

Caleulate ‘Gross Value Added at Factor Cost' from the following data :
(Rs. lakhs)
(i) Sales tax 20
(it} Sales 400
(iii} Purchase of raw maternial 250
(iv)] Excise duty a0
(vl Change in stocks (=) 40
(vi) Import of raw material 12
(vii) Depreciation g
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27,

28,

29,

30,
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(i) fashn 400

(i) wed A W A 250

(iv) SE I[cH 30

(v) Hi® H gfEnd (-) 40

(vi) Ted " H A 12

(vii) HEEHH 9

When exchange rate of foreign currency falls, its demand rises, Explain, how. 3
o faeelt wer @ fafrrm e et #, @ @A S0 oEE # 1 wwwew AW

Explain the lending function of commercial banks. |

OR
Explain ‘banker to the government' function of central bank.
aftrsy s ORI N F FE g |
Fear
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Distinguish between : 4
{i)  balanced budget and surplus budget

(ii) developmental expenditure and non-developmental expenditure

frfafaa & @9 3@ 998 .

() Hfen a9 #R 9= W 9w

i) faEwm =@ R T-faEm =

Given marginal propensity to save equal to 0-25, what will be the increase in national
ingome if investment increases by Rs. 125 crores. Calculate, 4

4fe dWim @99 @ 025 @ o R H 125 HUs % % 9fe W W ° AW gfs
o 2 s Fi |

Explain ‘consumption function’ with the help of a schedule and diagram. 3]
Explain ‘saving function’ with the help of a schedule and diagram.
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Explain ‘consumption function’ with the help of a schedule. Also record marginal
propensity to consume in the schedule. 6

OR

Explain ‘saving function' with the help of a schedule. Also record marginal propensity
to save in the schedule,
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'Giving reasons, explain how the following are treated in estimating national income :

2,2, 2
(i) Wheat grown by a farmer but used entirely for family's consumption,
(ii}  Earnings of the shareholders from the sale of shares.

fiii)  Expenditure by government on providing free education,
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Caleulate ‘Net National Product at Market Price’ and ‘Private Income’ from the following

data - 3 3
(Hs. crores)
(i} Net factor income from abroad (<) 5
(i)  Private final consumption expenditure 100
(iii) Personal tax 20
(iv)  Gress national disposable income 170
(v) Government final consumption expenditure 20
{vi) Corporation tax 15
(vit) Gross domeslic capital formation 30
(viii) Personal disposable income 70
(ix) Net exports : (=) 10
(x)  Saving of private corporate sector 5
(xi) Net national disposable income 145
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(F7g ¥)
() faEE @ fEe sns Ad ()5
i) Fstl @ifem 3uam =29 100
(i) aafen = 20
Gv) Heel TP WEE I 170
(v) HEER Sifaw I = 20.
(vi) & 15
(vii) W oaia e fmir 30
(viii) Fufehs T899 70
Gx) fraa fraf (=) 10
)  frell ffee @@ & F=0 5
xi) TEE e s 3 145
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